Circles
Use the statement and the image to correctly fill in the blank

M is the center of the M circle.

The D circle has a diameter of 6cm.
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M is the center of the M circle.

The K circle has a diameter of 16cm.

F is the center of the F circle.

The B circle has a diameter of 4cm.

The C circle has a diameter of 14cm.

O is the center of the O circle.
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The K circle has a diameter of 16cm.

A is the center of the A circle.
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The C circle has a diameter of 18cm.

D is the center of the D circle.



